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AN ST 28 2cl 135,714 246,000 A110,286
101 ©1AH| 88,114 97,000 A\8,886
04 JIZtN2Z2 XS E 88,114 97,000 8,886
OIIZHZRX 12| S 88,114
201 2Bt | 27,000 29,000 £2,000
01 AfR 22l 9,000 9,000 0
OZTUAHE 2Y B, BB, IR
S 9,000
02 S3=gl 18,000 20,000 /2,000
O0332= & AMEEHl |AHl S 18,000
202 04| 2,400 2,000 400
01 2LHA b 2,400 2,000 400
OYLHA ME R SXEZAL S 2,400
207 ARl 16,200 18,000 21,800
03 Al 32t 16,200 18,000 /1,800
OHAMHHE A=, HHXl ¥ Al 2 S 16,200
405 AHaHE = 2,000 2,000
01 ML ESFSHI 2,000 2,000
ONNHARHTL X SD22AE HH S 2,000
OIE AHEHI0IR SHAIEENE 2d(=1) 4,000,000 6,000,000 /2,000,000
= 2,600,000
= 1,400,000
401 AIEHIZ SR OHYI 7,000 6,000,000 /5,993,000
= 4,550
= 2,450
03 Al 20HHI 7,000 7,000 0
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A AgMEDIEY (S LA/ Y - &E)
SR A" - HRES (Gt &2l
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
OatEHI0IR SAadE3NE ¢ R0 7,000
= 4,550
== 2,450
403 MR EHSAHE01H 3,860,000 0 3,860,000
= 2,509,000
= 1,351,000
02 S7I2S0 U H=E 2 EAIEI 3,860,000 0 3,860,000
OLHHHIOIQHIE S FIE AL 3,860,000
= 2,509,000
= 1,351,000
405 AHaHE S 133,000 0 133,000
= 86,450
< 46,550
01 ML ESFSHI 133,000 0 133,000
OLIEBI0I HAEX 3H 728 S 133,000
= 86,450
S 46,550
Aa ord 2t 8,960 14,300 A5,340
201 2= 3,000 4,000 A1,000
01 At22tel] 3,000 4,000 21,000
OdLHMAH, WSH|, ?x2AE S 3,000
202 04l 360 300 60
01 2LHoIH 360 300 60
OHPAUNGHA & WS, HXI0E S 360
206 M=l 2,100 3,000 2900
01 M=4l 2,100 3,000 A900
HEY NHNEE S 2,100
405 AtatE = 3,500 7,000 A3,500
01 ML ESFH =S| 3,500 7,000 23,500
OaEA HMAIAE S 2 3,500
=38 NE8s a7 11,000 14,800 23,800
101 @124H| 8,500 10,000 21,500
M ORIMZZ2NSE S 8,500 10,000 1,500
OJIZHHl & HAIIZ22 X 2I2H S 8,500
201 Let23 | 300 600 2300
01 At22te|H] 300 600 A300
OMFES 7Y S 300
202 04| 200 200
01 2K 200 200
O3 MZ ZAt EF 0l S 200
207 ARl 2,000 4,000 A2,000
03 Al 32t 2,000 4,000 /2,000
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SA: AR DR
ZE: AR DEIEHL (SRHY SN /LY - NE)
=5l Al - gPES (SH9 M)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
| oor 4222 2 g 2,000
SHEXIO B0IZED ATIE S8 BT 1= 23,565 63,000 744,43
101 o121 16,365 16,000 365
M4 IRHHZ2Z2XSES 16,365 16,000 365
OUABTHHH JI2NY 22X QI2AYl S 16,365
201 =3 3,600 4,000 A400
01 AtS2t2ltl 3,600 4,000 A400
OMTIX BB 2B U NTAX S 3,600
202 044l 3,600 3,000 600
01 2UHoiH] 3,600 3,000 600
ONBHPX X4 o BFFY S 3,600
Zd HE2 ASE BI01L At A7 45,752 62,720 A 16,968
101 e124d| 34,552 39,720 A5, 168
M4 IRHHZ2Z2RESES 34,552 39,720 A5,168
OUTBE Q12| S 34,552
201 =3 7,200 8,000 A800
01 AtS2t2ltl 7,200 8,000 A800
ONS2ASE, Bl YX2 S 7,200
207 HoHe 4,000 15,000 A 11,000
03 AlZ =4I 4,000 15,000 A11,000
O%TB ME P S 4,000
AR SAST NHE BN B3l 2 5,000 7,50 22,500
201 L2 5,000 7,500 A2,500
01 At22telbl 5,000 7,500 22,500
o2& A28 & 5,000
JIBHE ot NYNST HNQ 2E U ASAT B 94,000 0 94,000
= DU
101 Q124H| 70,300 0 70,300
M JI2tHI2E2HSES 70,300 0 70,300
O X SHAIRIZE 012tHl S 70,300
201 L2 11,500 0 11,500
EEEI 10,000 0 10,000
OZAXY X UL AIREE 7Y 10,000
02 2324l 1,500 0 1,500
OZAXY REH S 1,500
202 044l 7,200 0 7,200
01 =LHO LI 7,200 0 7,200
OB E XA (I 7,200
207 AR 5,000 0 5,000
03 AlZ =4I 5,000 0 5,000
OTMAIZ ZA & 228 B 5,000
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SH: MRS

HE: MRS L (YYD - LHE)

SR A" - HRES (Gt &2l
S - BB - BRI(EH) - AIRAY - BES of v e HIDE2
YA LA HAEHE £ L LASH DU 64,826 0 64,826
=E!

201 Ler=23| 5,226 5,226
01 At2teltl 5,226 5,226
OANRES & XA 22=3 5,226
202 04| 1,000 1,000
01 2L AH| 1,000 1,000
O XA (| 1,000
401 AIEHIZ R 0HYI 58,600 58,600
01 Al&HI 58,000 58,000
OHAEHE =& ¥ R 58,000
03 Al 2CHYI 600 0 600
OHAEHIE &4 =2 & +=EH| 600
AHHHIOIR AT S41 THEH o+ 60,689 60,689
101 @12A4H| 40,689 40,689
04 JIZtNZ22 XS 2+ 40,689 40,689
QJIZHHIZ2Z X 14| S 40,689
201 et 3| 15,000 15,000
02 S52g4l 15,000 15,000
O&J|, S&l, R1EH S 15,000
207 ARl 5,000 5,000
03 Alg 28I 5,000 5,000
SAME Mg 78 S 5,000
AL 3g2 423,365 381,506 41,859
BA2E 423,365 381,506 41,859
101 @12A4H| 26,975 25,870 1,105
04 JIZtN2 2N S 2+ 26,975 25,870 1,105
OFA 223 26,975
201 et 3| 387,750 336,9% 50,754
01 At22t2l] 84,500 80,400 4,100
OFAI HIEFY & 2XE S 13,500
OFAL Al 22| FXE2 46,000
Ol - BAAC|H2) |2 2 28 25,000
02 S3=gHl 303,250 256,596 46,654
OFEA S8R= S 235,000
OFA AME22] RAIES 37,000
oZEitg FAl2dl 27,000
OFEAL E41 d20] N2EH| 3,000
Foll X0l HE S+2H2HT 1,250
202 04| 8,640 8,640
01 2LHAH| 8,640 8,640
OoEZESHHI(SRH) 8,640
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M HYSAGHI(AMSUSARR)(IIEHIIEN
el IE 2l EER=E)
SIA - BE - O9I(B) - NIRAIY - S Ofl b e HIR=2
Y SHHH| (A USARRH) (DIEHDIEH 4,087,428 4,023,197 64,231
= 62,070
& 4,025,358
olE=2Z| 3,918,084 3,854,139 63,945
= 62,070
& 3,856,014
SE& ol X& 2,592,768 2,420,252 172,516
101 21241l 2,592,768 2,420,252 172,516
01 2= 1,877,575 1,787,802 89,773
oJlEs 1,419,751
Oo== 1,337,440
-2 Bt 824,49
4= A,317
= 64,720
= 241,620
= 228,371
= 130,584
= 64,880
AR A 512,948
A 135,920
AL 377,028
Odu= 82,311
-H2g 82,311
o= 189,249
O] ==L 21,600
-kt 7,680
-2 2= 2,400
DN IE 3,960
-SMXHA 7,560
(OFSF=Sa= ) S = 23,880
-20490( & 14,400
-15~20= 0| Gt 1,920
-10~15= 0| Bt 2,160
-5~10= 0|2+ 5,400
O&EIFIHZ 3,240
-25E0( & 2,880
-20~254 0| Bt 360
OUeERA== 8,005
OS+=X2RxEH(EX) 1,440
O=EgRY 20,640
J=38sY 6,240
=10l 720
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SH: ARTEI e SRIE
I MRDEDIE N (SR (STHLSLA/LL - &
ol E=8 FEAAH 2= EER=E)
S - BB - BRI(EH) - AIRAY - BES of v e HIDE2
stg st @ S22 3,818,099 5,137,979 1,319,880
= 411,961
[ 467,240
Jl 67,800
< 2,871,098

AEWED Iz NS (SR (oL d - &E) 2,893,576 4,273,861 /1,380,285
= 411,961
s 467,240
Il 67,800
== 1,946,575

C=e ZEMA 2= 1,830,101 2,681,305 A851,204
= 385,594
= 467,240
) 67,800
S 909,467

2Ue32 xE(=21) 156,775 0 156,775
= 66,391
= 90,384

401 AIEHIZ SR OHYI 156,775 0 156,775
= 66,391
= 90,384

01 Al&H| 180,775 0 180,775
oZUFsy &8 180,775
= 63,871
== 86,904

02 Zeltl 6,000 0 6,000
OZUREY &8 6,000
= 2,520
= 3,480

FHASIHRI(F1D) 537,888 214,793 323,095
= 268,944
S 268,944

401 Al HIZL 201 537,888 214,793 323,09
= 268,944
== 268,944

01 Al&HI 499,709 198,793 300,916
OZ2LHR I 95,506
= 47,753
< 47,753
Oott=+8 83,994
= 41,997
= 41,997
OX=EXIJHI] 68,485
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SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
= 34,243
=S 34,242
Otr=01eg =130 251,724
= 125,862
< 125,862
02 Zeltl 36,679 16,000 20,679
O2LIF I 10,370
= 5,185
= 5,185
(OES=INPIE) 6,149
= 3,074
== 3,075
O&t=0ilg=I131] 20,160
= 10,080
= 10,080
03 Al 20HHI 1,500 0 1,500
OAIZ 20l 1,500
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=S 750
SSUYIRIN(F2) 50,820 283,510 232,690
= 25,910
< 24,910
101 @1A4H| 43,440 262,806 A219,366
= 21,770
= 21,670
04 JIZtN2Z2XNS 2= 43,440 262,806 A\219,366
(CE=IEPIE ) 43,440
= 21,770
= 21,670
201 er23 | 7,380 20,704 N13,324
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< 3,240
01 At2teltl 5,380 12,100 N6,720
o=5+¢ 4,480
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= 1,000
= 1,000
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01 Al&H| 128,350 205,960 AT7,610
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7l 3,625
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= 467,240
< 200,246
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= 467,240
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01 A28l 653,602 1,140,260 A\486,658
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[ 457,521
= 196,081
02 2l 11,160 23,500 12,340
Ot=detE e 11,160
s 7,812
== 3,348
03 AIZ 2 THYI 2,724 0 2,724
Otr=8s e T 2,724
[ 1,907
= 817
LT AIE (HEALY) 62,3% 240,259 A177,865
101 e124d| 39,204 18,982 20,222
M IItHZZ2RSE 39,204 18,982 20,222
@%‘E%El%(@%) 39,204
401 Al HIZL 01| 23,190 221,217 A198,087
01 Al&H| 23,190 217,446 A194,256
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SAIAHEH 22l 4,800 6,000 21,200
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OYHIIAHEEl FAl - 2el 4,800
MM =SR2 964,075 1,453,956 /489,881
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= 937,708
HEH B =S SR AEAY) 300,000 400,000 100,000
401 AIEHIZ SR THY] 300,000 400,000 100,000
01 AlZ28| 300,000 400,000 100,000
FHE S8 AAR FHE H7L) ¥
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